414110, 484170, 9

Tahlenfolge

43'890,93'890,2

310730, 410730, 2

Tahlenfolge

133'610,158°510,

493720, 563720, ?

Lahlenfolge

208'430,218'430, 2

942340, 592340, 2

Lahlenfolge

234820, 343820, 2

369'930, 594'930,

Lahlenfolge

136730,756730, 2




V -

amT+8T1=

V -

316T+60T=

V -

JNT+10T=

V -

146T+300T=

V s

204T+17=

V i

630000 + 80°000 =

V s

137000 + 80°000 =

V -

413'000 + 50000 =

V -

245000 + 300000 =

V s

151000 + 70°000 =




Ereigniskarten Zahlenmauern

99720

39851

19869

40441

233114

230

295

155498

11616

96331

96753

37469

18'862

961513 1212
481988 | 79525 34405 | 373617
320'655 | 19'869 | 318192 11851 | 25°516

v+B

268992

134°

184

89769

90345

ar

285

299526

148014

29921

25101

131529

259659

80800 23426
40281 | 40513 11850
21115 21401 T440 | 4133 | T







4

4

.

4

4




V —

646T-50T=

V —

460T-4T=

V —

921T-700T=

V —

428T-9T=

V —

993T-30T=

V —

630000 - 40000 =

V _—

332°000 - 6'000 =

V —

696000 - 400°000 =

V —

253'000 - 60°000 =

V _—

317000 - 200°000 =




2917+

=1000°000

4821+

=1000°000

663 T+

=1000°000

844 +

=1000°000

9257+

=1000°000

955000 +
=1000°000

464°000 +
=1000°000

373'000 +
=1000°000

282'000 +
=1000°000

171000 +
=1000°000




V —

1000-10=

V —

100°000-10 =

V —

1000-100=

V —

1-1000=

V —

100-10°000 =

V —

9+40000=

V —

4-8000=

V —

V —

6-70000=




V wiin

1000'000: 1000 =

V i

100'000:10'000 =

V win

10'000:100 =

V sicin

1000:10=

V sisin

10'000:1°000 =

V wiin

20000:4=

V siion

V wiin

1400:17=

V i

20000:2=

V sisin

9400:9=




Ereigniskarten Rechendreiecke Multiplikation

o

Rechendreiecke
Multiplikation

Rechendreiecke
Multiplikation

a4

12

Rechendreiecke
Multiplikation

Rechendreiecke
Multiplikation

161

619

Rechendreiecke
Multiplikation

945

Rechendreiecke
Multiplikation

m

19

Rechendreiecke
Multiplikation

225

6 -

Rechendreiecke
Multiplikation

195

Rechendreiecke
Multiplikation




